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Magy,
LEmOEIee:  mam’ mQa;“ﬁ.“nN Matics

Umbery,
L) 31 to 60
nﬂm}&ﬂ]ﬂmﬂ EHE'I% ﬁl‘i;%:; . The quantity of the Paddy lrom two

Wm&mw % wards of a Panchayath 15 given below .

3k

ol 1 - 80N Serd

. !
t’%ff' Ward One - 17 tonne.
4

j 2 - 2870 &l -
nlodan %0 Ward Two - 2870 kg

TR agie: mﬁ]‘ E}d]%? What is the total weight of the Paddy ?
(A) 4220 &l (2o (A) 4220 kg
(B) 3020 oul.enda (B) 3020 kg
(C) 3870 &l.iN0o (Cy 3870 kg
(D) 4370 S0 (D) 4370 kg

32. Two cubes of side 10 em each is dropped

L mosw HCUSADIARA ﬂm&. njg[ﬂ_ﬁm‘lﬂ intoa vessel with full of water. How much

10 em.dl. ofleo mﬂ%ﬁ:. nE!: water overflow from the vessel ?
MLLERAOGEHD EISHMY “”Mm

el n_;*nn_m'iﬂiﬁf 7 e

sugparieacg wegal ag® (A) 1 litre

&) 1 efigh B) 2 litre

B 2ehgh (€) 10 titre

Q10 enga (P) 20 litre

®) 20 aligh 15 C
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LWL Aeh g EOETHET gyl

(A mesyo MmO g
|m;un;}n“nhﬁ.tm.ﬁ1qj aJOMYTTY

(B memyamaes AL T T )
MUMLBa)g 0T 60T ) i
AR @MYL Eldhdl TNy

(© moonayemd opelelaf g
allanmemo (MSEMITTY

(D) (el ﬂn.lggm:m1ﬁ aflieflahmem
MDY Sasdeaoilea)mmy

mlemma aftmalsemelad 34,
BIADRITTIE gy |

(A) myme alemiogwmed

(B) aese aflewingomed

() f0% osgy
(D) aume oflamieescd

3
an) alo (el 3 @ota 35

SCUARADSIEMEn0UD 1% elpd oopal,

as@o (Mloa® HUSEOLSAEWE agi®
alné mmbyo ?

1
(3) 5 eigd
B  elgd

(© 2eigd
(D) 12ica
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.Whh.'h of the following 4 not syisey lor
'Miraducing  algebra’ in

E I'I‘ tiThiary
Classyog 2 .

(A} Generalization of nurnber relatyoon

{H] Ulrﬂl-fﬂri;uﬂnn [’If Ff;;h IF}'- "

rn'l.rnlwt'lp; operations with numbss

{C) Solve the problems bv framinz
algebraic equations.

() e tortal representation for doins

calculstions.

Which 15 nat part of contmnmuous
ASSeoLINEnt ?

(A)  Self assessment
(B}  Term evaluation
(C)  Class test

(D) Peer assessment

1 1
I-E litre water is used to fall 1“‘:.11' & pot

Then how much water is needsd to &I

the pot fully with watsr 2

a) 3 lie

(B) -} litre
(© 2 litre
[[;l] 1 litre
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4
T
ol Iomd rema

2Nl@eied ot O21G @3tgmy
ﬂ.l-l'mgﬂr ngian? Areq of the shaded portion i the figure
(A) 18 aiequ.a, is:
(B) 36 asemu.d). (A} 18 cm?
(© 13 ssnem.d, (B) 36 cm®
(D) 22 aseon.d. (© 13 em?

(D) 22 cw?®

37. epem deflees malewamooes -

37, Charactenstic of inductive method is
(A) eaidmoaieelad Womge aay

h TR T inle to
e lgealienies) (At From general principle to a

]‘n.'lt'ﬁn"l.ll-.ll' problom
(B) @wemdno PESOREMREER nmye

(B)  Fromvarious examples to a general
B0 SO ETeH 88

pri ip le

(C) aldeatem Aalaieyns ary Qi

(Cy  Proving  the fact  through

omglaianad experimental method
(D) oydemadw any UpEais oimpe (D) From a concrete fact 1o an abstract
araydemmeowaiiasas o,

38, T 400 &S nmn%ﬂu:}m“ 25% afie 38. The cost of a school bag is T 400, The

ice is increased by 25% ane 0%
] 0% afla @l0sie® price is increased by 25% and then |
ASIEIS R o - {:{1 = discount is allowed. What is its price
Digjovecm alleew@ | i
(A) T 450
(A) T 450 B T 400
(B) X400 (©) T 350
(©) 350 (D) 2 5p0
(D) ¥ 500 &

15
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alimamiet acerd {mﬂwmmggmsm@
UNEBAINS mu}'}ﬁﬂﬂ{'ﬁ‘:;cﬂﬁlﬁ ewosdlgla]
ofibaglay nsoagemost NEHIVISIRE.
oo mdala romaen nalafleaim

€lemaiosy a7

(A)
® 1
© 1
©

(L))o D)o it

o afles agym?

(A)

2|5

(B) o

© 2

(D) 1
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In the figure, the pattern is formed by
ini“i“E the midpoints of the sides of the
trinngle. Find the fraction representing
the shaded portion in the pattern,

1

(A) .

®

1

© 3

(D) .

What is the value of

(1e2)1=3)(1+3 (-3 ) [1-15“]?

49
(A) 3
B) 39

1
© =

D) 1


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

41.

42,

43.

= |V

sSlogllad cnemiics SETye LUBBEBID
mIey oMol memmiemise
MRRIIED (riydaum agar ?
(A) WImdgo tynoass00 MAbenmd
(B) &) R InS Ll 4 B By
TRMITuE o188 ‘ﬂ‘ﬁ"'ﬁ’ﬂlﬂ-'.lﬁﬁm;uﬂ,
GRVOomalales w

(URETDMERR M 4.0
©) eecuclwymodomn i

D lELMEMET3LD R LTy P
(D) motdleonnie uluumm“ﬂﬂmmlm

(BB :
aflaflw a®ovlefsangloe

warfl@maymoxll euMueals &ude des
amulgiasa awm@tio (R ey rriesi) ori
SaJEWINHRSIATHILLM alomm(me
on@?

(A) eroailmoid

(B) afledas Sla]
(C) mosammdaog

() MofudAo

meml® 100y alALEl@eSs (awam
malspamoonll NCF, KCF @

aflgveasfio flaje?

(A) aaromemiai wIR3Go &) I T
icubEmmek falged

(B) mmyseAg]e ero (@0 BYTRELC
ga_lmocwggsgmd e

(C) :ﬂ‘;‘::’iﬁmm_ Pl
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Which of the following stalements is not
suitable for increasing the interest in
Mathematics among children ?

(A} Givealolot Lhomework

(B) Give compelitive games and
activities depending to the nature
of the children

(C) Using a variely of learning
materials

() Provide recognition and promotion

Which {s the learning strategy that can
be psed 1o give dicect experience to the
children associated with Mathematics in
various workplaces ?

[£\A)  Sepunar

(B) Field Trip
(C)  Assignmant
(D) IDhscussion

Which of the following is a salient feature
of Mathematics curriculum as envisaged
im NCF and KCF ?

{A)  Giving lot of exercise activities
(Bl Utilization of principles and
fortnulaes

(€}  Mathematisation of thaught process

(D} Giving a lot of homeworks
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(B)

()

(D)

8.013 am afldlngiei@iwdmd ey
arrdidleamaiied (eal@I®@ (IRIUmM

ages ?
(A) (8x10)+{ ox—_ |+ .xﬁ]q';x% ]
)

(© (8xay{ 1xsh )+ 3x )

(L)

(B) (8 1mm]+( uxm [

(Bx1000)+(0x 100)+(1x10)+{3x1)

‘5-

2 1
3 R 5 enamie 4 ased agoneicd 46,

|

X

(A)

+

(B)

©

Wi wWiN wip wim

Bley wile ale e

()

o ':T
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|
thti.-nixzx;:x.. ..... :-:?ga?
(A) ;
»
©
(D} 1on

Which of the following is the correct
statement of 8.013 7

1 !
+|\,1 ﬁ]‘f"[-“ﬁ_l—ﬂ)

[Hx‘lﬂmh{ﬂxﬁ]+[jxﬁ]

(A) (Bx lme{ r:-x.il_]
(B)

1::—:1’“

1
100 Lh muu]

(Bx1000}+(0x 100)+ (1100 +(3% 1)

() {ampt

(D

W}uchnf the following represents four

2
times one fifth of 3 ?

x

Wle ol wi=

()

+

Gik win win
=

| 03
l.'I
“!

-
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|

/

dndlemm cudone @ 5800
garadailnirm ey sem ) oo g
B
ubayo 109, Lﬂw.'::m"ﬁm‘l“ m{,“mﬁn -Ig?:;
g v o nﬁgﬂml Guaf) Hod
e ol crrynd
(A) 5800 x 1O
100
(B} 5800 + 5800 x J.E.
1x)
" - B
(C) 800 — 5800 =
100
(D) 3800 x 20
104 .
5
@oe atoepmaiaid < elgded %

@aonwriied st ngye ?

3
(A) 2 elgdedq | ®ouo

1
(B) 2 ellgdlen 5 BoUo
1
(@ z2elgdlog % aonaviiag | 8o

1 3
(D) 2elgdiadg 5 sowmEiog 3 Ao

28 6., 24qBaIEs 80 owatiod
mlgauge aflmlwio

m}fﬂﬂ“ﬂmﬁm ? .
(A) oflge? mm,nnaﬁ?m.-ﬂ

it 6 oo
(B) aﬂgo.lﬂ'm:@,.nﬁ@-ﬁfma
© ofigo9 e, Al sﬁﬂ
(D) cfhigo § ol @Rt 68T

o
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L ) T prue ol & blevele in the last vear was

48.

49,

[his vear the price reduced by
wihneh of the tollimving show the

~ B8
i1,
rrice. this vear 7
2500 % D,
‘-"'I_'] Rl n ”H]
m
() SR+ HHN) = '[-||_‘H-_1
L;I]
x 2 RN el
(<) SHIN - DRI~ T
A e Gy
‘IIT' "HLH] k I{E.

Which of the tollowing is equal to

Ll

lllu

1 of

~ lptre
3
(A Mg 2 litre
I i
(1 . i of 2 hitre
L“ ".i. th -.l el ol “ 3 l“-“'
[_ } 4 L J LN = .
3
(D) .I th of

1
“1 ., b | r
3 of 2 litre

Which among the following is not the
length and breadth of a triangle whose

Merimirer s 28 cm 7

(A) length 7 cm, breadth 7 coi
(B) length 10 cm, breadth 6 cm
(€) length 9 cm, breadth 5 cm
(D) length § cm, breadth 6 em
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7282 am  cuoomalleimima o)

afidlegreinimont RO@RIEDE nge) ?

(A) 37 mpaine 282 enmiesod

(B) 27282 @amyoub

(C) 3 wnlimieine, 7 agaliao, 2 oy,
8 cimre, 2 arrndnid

(D) 37 mpoice, 28 MO)ed,

2 eyl

werim  womeEsiod  CLdEHIEdh

USRI ART)GEIRLOEE BIDHo

g 7

(A) mysalefiw mjpuam@ aeaf ooo
B s

(B) wenim @&wnstd, SHOlmdd,

admllojidntd DO BGYIOTSD
AUBEUTILOER

(C)  (TUoELOA IDBRET il MK SOE6E,
FHEETRETHTY

(D) wawdgo wEMld  (nigpemud
mrildauoneme 6algud

33333 agym  Moaywioe spsoam
maeEmwio UANED maesmw o

3 @es uodmalRid.aens DB ?
(A) 33

(8) 30003

(C) 10001

(D) 3003

50.

51,
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Which amang the lollowing s naj
presont the number 17282 7

(A) thousands 282 ones
(B} 37382 npes
(S ten thousands, 7 thowsands,

2 hundreds, 8 tens, 2 ones

() 37 thousands, 24 hundreds, 2 ones

Which is not s suitable method for

developing creativily in Mathematics ?

(A} Draw geometric ligures and eolous
them

(B)  Preparing/collecting Mathematical
stories, poems  and  special
magnzines

(C) Preparing/finding number patterns

(8) Solving a lot of Mathematical
problems

The sum of place values of first and lasi
‘3" in the number 33333 is ;

(A) 33

(B) 30003
(© 1000)
(D) 3003
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1001

Ao -
b Mocuymm 1= b xH agyrry

Qes R n@imaouidiay, 9
(A) 6
(8) B
(Cy 10
(D) 12

dion @hsailmdaniond mswmeand Q98
el  quawmaRg)e :

gy Wio
alglaalied eaosiEmiigiend.

acuglaglen | T 480
am) T 420

aJemimoon | T242

din T 2000 amMOg HSHNINM Mol

gl @ 6uOEN] ag® Mot HSWSH
wdlse madelaigens ?

(A) T 858 °
(B) ¥ 1100
) T 1102
D) T 958

46 o 15 guammd ()ETE0ST ”ﬁ?
amigeamuoid ngpfm

(A) 4x15 +6x13

B) 46x10+46%5

(© 45x15+15

(D) 465 +46x5+46%

53,

55.
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A number is wrilten as BZB %R, Then
number of faclors of thal number is ;

(A) 4
(B) A
€y 10
(D) 12

Reena bought the following ilems from

the shop :

coconul ni 7 480
rice 420
sugar T 242

If she paid T 2000, what is the balance
amount the shopkeeper gave her back ?

(A) T 858
(B) T 1100
(C) T 1102
(D) 2958

46 is to be multiplied by 15: Which among,
the following is not corvect ?

(A} 4%15+6x15

(B) 46X10+46x5
(C) 45%15+15
(D) 46X%5+46%5+46X5
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tu ¥hemg! ﬂﬁ}m‘ mmmjﬁ‘lﬂ'l'ﬂ] ﬂUt}ﬂn_lmlﬂg‘I

¢Sl 9o (oM gy ?
[!Lt [
(B} opemmanied aflodl@aoom
(Cy medgyoo QEOIBRINAETY

5Aa 0w THELEKTIIAT)

(1% mpaymow AllmafhaaeI6my

]

a T nmmﬂm (2117 rotuy@IaG
LT 4 ARE D6 ﬁg}m-.'lmﬂ D6y
ﬂ;m.-.'s:-5m1m1:ﬂt1$m1njmflmﬁ ol LY
el Lyt ag®

(A) o ayeswie b WS
Giemmndale O (oRRTOS
~z1saaouldlaaio

By o aesoge b @IOS@yo
L) A0 enldm U Mo D

DEAYEYES HRISE0Ridlenio

(L) o aesae I ayesio @i, MY
nooyanms reisaadeldleno

(D) o apnsae b @estie OUEmyNTe
M (TLeR)ENeSs esandnidlans

awin e A lamandsd

§ exysymanent enllmaliod, cumxpi. §09
ezvnunem aflalw oeesls ooy
o J=qu';1-§=%&1 ﬁﬂﬁ‘:‘;m&. Qmmﬂlﬂ
(NEILLE TN i ?

(%) n-b45
() adb=35
()] b=a-5
(I a-b=5
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Which of the following is not o carrec
Stalement aboul the concept *divisian' ?
(A} a repeated acidition

(B} reverse of multiplication
()

(M)

a repealed subtraction

equal divigion

aand ' are lactors of a number. Then
which of the following stalement is

always correct ?

(A)  The product of "a” and b’ is a factor

of thal number.

(B} The LOM of ‘o' and 'l is a factor of
that numbwr,

(€)  The sum of “a" and "B’ is a factor of
that number,
(B} The difference of 'a" and ‘b’ is a

factor of that number,

The age of Binu is 5 vears more than the
age of Anu, Which of the following i5
not satisfied by the above relation 7

(A) a=b+5

(B) a+h=5
©
(D)

b=a—->
A—=b=5
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300 N nddlg 166 o, 59, W A
pemoaiitiesnm g, hich among the following is an
W HDIM i) s Important ability of a Mathematics
teachar 7
(A) G Bt me ) 29w M
adhborry mfﬁ%c&%;&, H, (A) Give exact knowledge to the
students.

(B) tﬂaé‘;:atﬂiﬁ'lg “"m‘i'ﬂ”‘mm‘ﬂmafg .
130l R0E0) 6, (B) Make them capable for writing the

fxaminahon.

(€}  m@AOSyEmaLo lRvomemg,

- C e o ihes § ;
s0daileacnt aniumese = (£} Give opportunibies for remembering

formulaes and principles,

(D) @eoial midanlendd S5l Hw (D)  Encourage the child to construct
BinlomTuaflalea@e: knowledge.

f80. mioom  GoOR\ERS8INS (G i 60. Which ot the following is not a
| magﬂmmmf n@ﬂf 7 characteristic of open ended questions ?

_ (A)  Arrives at the correct answer
amoemin
A) symymow 60 2

ag)EilagExd LA
o ® i (B) E{VEf importance for child’s
8) @glayes a2l inking
DB LMY
- (©) Different methods for solution of
a{dﬂﬂr e the problem

©) laugg mildauORED
USlBD ©eNEds

(D) Oppartunity for thechild to find out
data and analyse the same
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